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6C 6D
speeches 11) 63A-81=72 1) 1) -6(Y-5+9)+7(2Y +9) = -1
4 P ) 9(7A-9) =9(8) -6(Y +4) +14Y + 63 = -1
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6E : 7A 7B

If your student text has lesson practice 7A.1 - 7A.4, and 7B.1 and 7B.2, look in Appendix A

1) 3,1 11) 4AB-7A = 15A .
) A(4B - 7) = A(15) at the back of your student book for the solutions.
4B-7=15 4B=22, B=51/2
2) onthe graph 1) intercept 1) 4
12) 7(B+6-2B-4)=32(-4B-8 -9 + 2B)
7(-B+2)=9(-2B-17) 2) up:over 2) 3
- 7B+ 14 =-18B - 153
B .6 Bsea 11B + 14 =-153, 11B=-167, B=-152/11
: 3) negative 3) slope
4) ; 6 e 2 1
13) -3(3G +5G) + |3-12[=18G + 5(-G - 4) 4) negative; m = — =3 4) negative; m=—- = —
-3(8G) + |-9|=18G - 5G - 20
224G +9=13G-20
-37G=-29, G =29/37 5) positive; m = % -2 5) positive; m = %

14) 100(-1.2) + 100(.07X) = 100(.3) o 7 y P
-120 + 7X = 30 6) positive; m= — =1 6) positive; m= — = 3
7X =150, X =213/7 or 21.43 (rounded) 7
5) on the graph

‘ 7) negative; m = L 5 7) negative; m = .
4 3 8 8 5 -5 -3 -2 2
6) answers will vary 15)  (49) —)To— - (46)7 = gge)—/s—/ M
ve: 3 B e <2 e L
12-64 =-25M, -52=-25M, M =22/25 B) negative; m= —_- =1 8) negative; m= —- = 5
7) Y axis
. 3 . 6 3
im= =2 o 9 = Do O
8) Xaxis y s W

50X - 255 = 63,
50X =318, X=69/25
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